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L 20239 2xH37 20239 3xH37 ARl
= 7 4,490,493,000 4,505,156,000 14,663,000
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L 20239 2xH37 20239 3xH37 ARl
£ 7 4,490,493,000 4,505,156,000 14,663,000
HE2A09] 3,519,019,000 3,519,019,000 -
O] A} EQREZF 960,000,000 975,000,000 15,000,000
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5,460,000 5,060,000 400,000
(-8H])
o4& 5,951,000 5,951,000
AEa) 63,000 126,000 63,000
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L 20239 2xH37 20239 3xH37 ARl
£ 7 4,490,493,000 4,505,156,000 14,663,000
At H] 3,280,313,000 3,280,313,000
o1 74H] 193,448,000 193,448,000 -
RLESRAu L) 45,258,000 45,258,000 -
O] 8A} EQIREZF 960,000,000 975,000,000 15,000,000
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5,460,000 5,060,000 400,000
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Flacless 6,014,000 6,077,000 63,000




